Efficiency vs dr

1.2

=
LI L

0.8

efficiency vs AR

0.6

0.4

0.2

=T

\ :E+ Y

— 1 T1 T )
—s— DQM_V0001_R000000001__Global__mkFit_baseline
—— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000

Ratio

DQM_V0001_R000000001__Global__mkFit_jcorelOmaxCand-24DUPremoval-1000

0.95 ||Ii |E|E

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.8

0.7

0.6

0.5

0.4

efficiency vs AR(TP, jet

0.3

0.2

0.1

Vs

Ratio
N

107 1072 107t
AR(TP, jet)

i

iy
I

2 4 6 8 10 12 14 16 18 20
Pileup

o
o



	Contents
	Page 1


